Practice Major Quiz 2 KEY

1.

Balance the following equations:

A) 2H3AsO0q4(ag) + 3Cu(OH),(s) — Cus(AsOa)a(s) + 6H,O(1)
B) 2C3H;0H() +90,(g) — 6CO(g) + 8H20(1)

C) 2Na(s) + 2H,O(l) — 2NaOH(aq) + Ha(g)

D) (NH4)2Cr207(s) — Cr03(s) + Na(g) + 4H,0(1)

E) P40y + 6PCls »10POCl;

Give a reaction type classification (combination, decomposition, single replacement,
double replacement, or combustion) for each of the reactions in Question 1.

A) double reolacement

B) combustion

C) single replacement

D) decomposition
E) combination

Complete each of the following reaction equations, showing correct formulas for the
predicted products.

A) 2H:POy(aq) + 3Ni(OH)(s) — Nis(PO.),  + 6H,0

B) _C4HoOH(l) + 60,(g) — 4CO, +5HO0

C) 3Cly(g) + AlBr3(ag) — 2AICI;  +3Bn,

D) Fex(SOs4)s(aq) + 3MgCly(ag) — 2FeCl; +3MgSO4

E) Zn(s) + 2AgNOs(ag) — Zn(NO3), +2Ag



